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#tinclude <stdio.h>
#include <math.h>

main()
{
double th, x, y, ans;
double pai = 3.14159;
for (th =0.0 ; th < 2.0 ; th += 0.25)
X = cos(th*pai);
y = sin(th*pai);
ans = atan2(y , x) / pai;
printf("th= %f , x= %f , y= %f , ans= %f¥n" th,x,y,ans);

kdsubl oshimal27% cc atn.c -Im
kdsubl oshimal28% a.out
th= 0.000000 , x= 1.000000 , y= 0.000000 , ans= 0.000000
th= 0.250000 , x= 0.707107 , y= 0.707106 , ans= 0.250000
th= 0.500000 , x= 0.000001 , y= 1.000000 , ans= 0.500000
th= 0.750000 , x=-0.707105 , y= 0.707108 , ans= 0.750000
th=1.000000 , x=-1.000000 , y= 0.000003 , ans= 1.000000
th=1.250000 , x=-0.707109 , y=-0.707104 , ans= -0.750002
th= 1.500000 , x=-0.000004 , y= -1.000000 , ans= -0.500002
th=1.750000 , x= 0.707103 , y=-0.707110 , ans= -0.250002
atanZDDDDDxDODDDDDDq=%,%pDDDDDDDDDDDDDDDDODD
ooodooooo

gooboobboooooon

gooooo

goooogoogoo-s -7 -



— =— cosq +.”—f sinq
'Hy

———(— nq) +— cos q
DDDDDDDDDDDDDD

%) (%
X 1y

2
[ 1f 1 . N f
_(W cosq +—smq) (T smq) +Tycosq)
:(ﬂ_) cos q+(ﬂf) sin’ q+ ﬂTﬂT sinqcosq

fix fly
2
(E—) *(T:/) coszq—z% .”T:/ sing cosq
_('"_
1
_(“_

1\ .
) cos’q +sin q) (Ty)(sm q+coszq)
DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
OJd00d0ooDo0ddooooodgooooddrotationinvariantd D 0O O OoOdQdg

goooogoogoo-s -8-



guooobogoa

goooon

goooo

gooo

gooo

DDDDD%(’%/DDDDDDDDD O, Quboodooond

2 2 2 2

A 1 D22l+l
DDDDDﬂ)g ﬂfDDDDDDDDD ﬂXZ ﬂ};DDDDDDDDDDDDDD

gbbogobodbbogobodbogbboobuoobboobooboobbooon
gddddogoooboboobbbbboboboobobbbbboboobooooooaada
goon

gobobobobbuodgoogobobbodddpe140b0

goooogoogoo-s -9-



3
OO0 fOoOooooood deS(""/M)dXiDDDDDDDDDDDDDDDDDDDD
i=1
DDDDDgradeDDDDDDNfDDDDDNDDDDDDDDDDDDDDDDD
O00dvoOOOONODOOOdiv(gradf)=DfO00000O0O0OODOO®0000

gooon

dododooooooon i+i goadoadd
® W

2 2

rr L

™" Ty

= f(x+1,y)-4f(xy) +f(x=1,y) +f(x,y+ 1) +f(x,y-1)
ooono

0 1 0
1 -4 1
0 1 0

goobboboboodadg

HRN

2 2
n2=Y v Y noooooooooooooooooooooo
™" W

goooogoogoo-s -10 -



